
 
 

 

 

 

 

 

Fitting 

Instructions 

 

Towbar For:-  
VW CRAFTER / MAN TGE 

CHASSIS CAB 
Single & Twin Rear Wheel (2017-) 

 

 

 

 

VW95 

MATERIAL: 
 

A 1 Crossbar 
B 1 Coupling Packer 
D 2 Coupling Adapter Plate 
F 8 M12 x 110mm Bolt, Ø40 Flat Washer and Nyloc Nut 
CB 2 M16 x 60mm Coupling Bolt, Lock Washer & Nut 
EP 1   ZEP35 Electrical plate 
 

Note: This towbar must be used with either a Witter Towball (part numbers listed below) or Class 
A50-1 or A50-X towball, which dimensionally conforms to A50-1 with a ‘D’ and 'S' value greater than 

or equal to that of the towbar. 
 

Vehicles up to 3500kg GVW – Z11, Z46, Z82 or F40 / Vehicles up to 5000kg GVW – F40 only 
 

Refer to the vehicle specification for the trailer weight and nose limits, which must be observed. 
 

FITTING: 
 

1. Removing the towing eye (if present) from the right-hand chassis rail, and temporarily 
removing the spare wheel lowering device may be required to enable fitment of the towbar. 

2. Loosely attach Crossbar (A) to existing bushed holes in the vehicle chassis using Bolts, Flat 

Washers and Nyloc Nuts from fixings (F). 
3. Correctly align the towbar and torque all bolts to values listed below. 

4. Use the Coupling Adapter Plates (D) on the forwardmost face when attaching the coupling. 
 
Recommended torque settings: Grade 8.8 bolts: M16 - 200 Nm / Grade 10.9 bolts: M12 - 130 Nm 
 

 

 


